

$$y' = 3 \cos 2x \cdot 2 - \sin 3x \cdot 3$$

$$y' = -3 \text{ のとき } 6 \cos 2x - 3 \sin 3x = -3, \quad 2 \cos 2x - \sin 3x + 1 = 0$$

$$\begin{aligned} \sin 3x &= \sin(2x+x) = \sin 2x \cos x + \cos 2x \sin x = 2 \sin x (1 - \sin^2 x) + (1 - 2 \sin^2 x) \sin x \\ &= 3 \sin x - 4 \sin^3 x \quad \text{二項定理} \end{aligned}$$

$$2(1 - \sin^2 x - \sin^2 x) - 3 \sin x + 4 \sin^3 x + 1 = 0.$$

$$4 \sin^3 x - 4 \sin^2 x - 3 \sin x + 3 = 0$$

$$4 \sin^2 x (\sin x - 1) - 3(\sin x - 1) = 0$$

$$(2 \sin x + \sqrt{3})(2 \sin x - \sqrt{3})(\sin x - 1) = 0.$$

$$\sin x = -\frac{\sqrt{3}}{2}, \frac{\sqrt{3}}{2}, 1$$

$$0 < x < \pi \text{ のとき } x = \frac{\pi}{3}, \frac{\pi}{2}, \frac{2}{3}\pi$$

よって求める方はこれだけ。

$$y - 3 \sin \frac{2}{3}\pi - \cos \pi = -3(x - \frac{\pi}{3}), \quad y - 3 \frac{\sqrt{3}}{2} + 1 = -3x + \pi, \quad y = -3x - 1 + \frac{3}{2}\sqrt{3}\pi$$

$$y - 3 \sin \pi - \cos \frac{3}{2}\pi = -3(x - \frac{\pi}{2}), \quad y = -3x + \frac{3}{2}\pi$$

$$y - 3 \sin \frac{4}{3}\pi - \cos 2\pi = -3(x - \frac{2}{3}\pi), \quad y + 3 \frac{\sqrt{3}}{2} - 1 = -3x + 2\pi, \quad y = -3x + 1 - \frac{3}{2}\sqrt{3} + 2\pi$$

